[ Efficiency vs vertpos |
~ 0.2

TP SRR SR S N
% E : : :
>‘0.16_—
Q -
_50.14_—
Q o
%0.12_—
0.1—
0.08]
0.06
0.04
0.025;

q..-"- - -

0.8t

Ratio

0.6 -

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_original_stepZ_libar-phasel-newgeom
M_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQ |
Efficiend —— D8M_pixelCPETempIateCut hiSquare5_step2_ttbar-phasel-newgeom
—+— D

M_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test
~ 05

L R R H S S

2 F i i i
L R S S
> F H H : : :
e E : : : : :
ISR S I S
o o : : : : :
O 0 [ R Sl S S
o o : : : : :
025 - orheerfediennenes R SRR Feeeees
0.2 woovsbo bbb

R e
R o=

ookt

Ratio

0.8F-----

Y R SO A 4 &

-30 -20 -10 0 1 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.5
>
0.0.45
S
o 04
£0.35
0.3
©
£0.25
[}
0.2
0.15
0.1
0.05

osft- M-t FRE

iency

Ratio

0.6
-10

10 15 20
Sim. PV z (cm)




	Contents
	Page 1


